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that leads to Majovana. masses for v 's. Find all differeut
tossibilities, qiving for each the guartum numbers of the
heowy rax‘\'(de. l:e:,uﬂ exc."tanae.d.

Ex.4 Given thal nestrinos are massive amd Heir flowors

mix 5 ‘U\za indvee a codrCLu‘h.'ou. 1o .|».->e.‘1, w\\;c.\n 6{,\1&3
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where Ux; is the flawor rixing mafix Re nevtrines, that vela-
tes flavor and wass ecsmsta:l:e.s as Vv, =§. Ul V. Drow the
diagram ot contributes to dhis decay and exploin, vSing
sq,mme:tuj axan)me.ucts, w\\j the BR above is propertional o
the fourth gower of nevtrine masses.
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with twe newtrino wass cusectious as indicaled. To see -Hmls,

notice thal the decany has Alp=-4,Ale= +4 while o
wevtrino mass texw vy, MapVp +h.c bhas ALgtllp =2,
Therefore, the amphitude fe tre decasy obove has to deperd on
nevteino mastes a.S & NEMFN Mue which can be rewdtten
in texws of nevtrino wass elgenvalves as
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The cecay rate going an ol implies BR~ my.



